EARAROBEEIERT — 2 N— IBISH —F

201795H 248 (k) 5EEZHE2H

m&%m##?ﬂ] C10 ¥5%—M# (w8 | mEmml - |5 5) o 8
[AE£] 1% :250,000” ~ 23#%&:63,000”  33%&:25,000M”  43%&:15000 M .~ 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1lglg|F—T>r7r5— 4 ;Eguﬁ 1:(3_3).5 2-2-2-1 |38.8 — | 2 | 409 g;é%— (BHE)
R:Z27)—>kb—A— B:x—v3A (-7) chR#IE
o7l 713570 x—H— H o4 ;Egrc‘ni 1(:13/32.)6 6-6-6-4 [38.3| — | 1 | 506 ﬁ;léfﬂz (BHE)
RILINATA—h— BINT(TRYF (-4) FEHKS
355 2V=—TFUT> o4 ;L;uég‘_ 1(:33/?:{)8 55-3-3 [38.9 — | 3 | 442 ’rj&%g E;_Z-F)EE)
. 7
R:ZXY—BA—IR BRY-FE-F 0% s
4 4| TTEX 4 Q:EE%EIS_ 1:(375).3 6-7-7-7 |39.5| — | 5 | 428 %iz ﬁg%aé)
L RY—LYv—=— BEILYTIELR N w77 — L4
5 AR =D VAT i 5 ;’ﬁ%ﬁz 1(:13/52.>4 1-1-1-2 [ 40.9| — 7 439 5}254‘_{3%
RANIRETA A B T—AE D ek sk
6l1l1|7vV>oU> o4 gigﬁo?ﬂicﬂﬁ 1:(3;5).0 9-9-9-8 [39.2| — 8 476 ‘r’{%)‘Fﬁdﬁf N(EEEHE)
QAN RAfO— B:vA59175Y 42 | glpadt Afexz—Tu
7lglg|Ly KyrO—L 4 ;k%ﬁg?% 1(73?:; 3-3-56 |41.1| — | 4 | 447 zzgﬁzmﬁaﬁ
L:ZTFAT=IK B2y FATI-IUR (42) HET77—L4
5 s e A £ 7 gg%ﬂ& 1(:33/%2 8-8-8-9 [39.9| — 9 467 19%!)%5 —%E%)
R:TeA T Ly h— B RXHTILZR (1| gemin
9 0| TAT7—F - it o4 gz?gﬂﬁfﬁ 1(:13/62.>3 4-4-4-5 | 41.4| — 6 410 ﬁ%&; %%E@
L:FLII/ VR BTATr—T14—> 1) FNLBRS
® I—F—@EBIERL
|S=7r= 3,9,8,2,5,(4,7),6,1
Ao=5"= 3,9,8,2,5,7,4,6,1
J=7r= 3,9,5,2,8,7,4,6,1
AT =gr= 9,3,5,7,2,8,4,1,6
[ RN
B 9 320 74K 7-9 130 & 7-8 200/ &R 5-7-9 160M
# B 9 100 5-9 170H B E 7-9 250 EE 9-7-5 990F4
7 100 5-7 130H BB 9-7 550
5 100M

ABICOVWTRDTEEERROODE. TR LIV,




